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— DINIR MW PRW QPR IN2
Here it is in a place where caravans do not frequent

OVERVIEW

727 reconciled the two N1awn, saying that if it is N1”1¥7 N17»W PR, one may return a
found vx even 72177 112, however if it is N1"¥M MW one may not return a 2712 VA
7210 provided' that it is 1wnw 12 A0 *w pimia.> Our MoIN analyzes s'727 answer.

nooIn asks:
= NN MIPYNY DIPNI YTINY YN *NI9IN 23U NY INNIN) MINN ON)

And if you will say; but why does not 727 answer in the reverse; this 71wn and

that ;1awn are in a place where n1M2» N1W; the difference is -
- YN NYY JNDY 1INV IND

Here (where the ruling is 2711 X?) it was "2 "1 32197, and here (where 271m) it

was not "2 "W YPIT; the advantage of answering it in this manner is -
- YN MY ‘DIWI SV K¥NT NN 1920PI1 DINT RN NI
For this would be more preferable, since we would establish that 71wn of Nx»
w1 Sws (he found women’s 1Pu%3) by nsn My -
- 6‘[”302 99299 YPININ RO MNEN MIPYNYA Y99NT S)"T %2 DYYNT NIYT
Similar to the m1wn of 7''°a mwy» which is in a case of IM7 KDY NMER N as
is evident shortly in our xns.

Mo0IN answers:
e 2arinin ’1mv:~r NTIY NONNT 90 v

' This is an addition of the X7»3, based on an incident where ;727 ruled that we may return by N MW even 11>
7217, when it is not PIMA.

2 In order that a 03 may not be returned 7217 7212 (only In?K?), two conditions must be met; that it is nM¥H MW
and 1wnaw 12 Ao 3w M. If one of these two conditions is lacking we may return it even 721 215,

Pamis answering that both nriwn are discussing a case of 11wnw 12 701 1w P17 the difference is whether n»w
nY1En (where 21 X9), or NMXN NN™Y 1K (where 771P).

* The n1wn of oW1 " X¥n is from where we infer that 9m even 72172 Jar>. According to the answer of 721 we
return it because NMxn MY PR (even though it was P1T). However according to NN suggested answer it
would be in a place of nv1¥» MW but P11 X? where we also return it 72177 1212, See footnote # 2.

5 This is the 7awn which the X 3 cites here from X,2 n"2 which follows the m1wn of 2w *v X¥n. Presumably both
n11wn are discussing the same situation (regarding N1"1¥n NA™w).

% 7121 ruled, based on this 7w of I "7 "2 Mwyn Y3, regarding a vx which was found in in the 72 of X177 27
that it may be returned, since it is 217 R, even though the 7"°2 of 7"7 is a Ny M»wnw opn. It is evident that
727 considers the mawn of 72 7wyn to be in a case of PINIT X2 NN MW, so our 7Iwn, which immediately
precedes that 1wn should also be in a case of 1P1MI XY NIXH MW,

7 See footnote # 6.
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And one can say that the story with 727, which is mentioned shortly, happened
first, before 7127 reconciled the two nywn -

= NN NIV IT2AN 99N 1PININ N 1IINMYUN)
So 721 informed us in the case of the lost v by X117 27, that by 3m7 8% even if it

1S NYMXR MR, we may return it. Therefore this ruling was already known -
- S8 Mwn PR QN 9N 221 IPTAMN ONT 1IYNYN NOMY

So here 727 informed us that even if v'"2> "1 117 we return the vx if N
NINIH NI,

nooIN asks:
= 129991199 22N MNNN MIPVYN PRT ) 5y AN IPININT NI 9NN ON)

And if you will say; in a case where w"2* '2 Y21m7, how can we return it, even
though it is N3 MW PN, for -

= NI AT YT )IYT N
How do we know that it belongs to this couple, since there is another v"2>?!

N1v0IN answers:
- 7593 PYNY 13 O NIAT 1YTIT 1D Y Y
And one can say; it is in a case where for instance we know that this w''25 lost a
V3 -
- 9NN PYNY 12 GO HY 10T RIY 19UN XYY

So we are not concerned that perhaps this v belongs to another v"2’ -
= NN MIYN PRT 1173 INI TAN NN DIY YIND )PNT

For there is no concern that perhaps another v from another w"21> was lost
here, since N1MxXR NWT N -

nooIn concludes:
=99 NIN 1D2AN 12 WD D199 PN IPITNINT 1999 9NN 3907 TYHN 290 NINN PNYNIY)

And our X923 is according to X''S (who maintains °n72 77°0n *7¥), for according
to »''" (who maintains *n72 72°0n >7Y), since two ¥'"2> were Y1, the husband

cannot be waa» with this 03, even if it is certainly his -
20193 NHNN N7 3,73 97) IIYY SNYIIDTI 191NN NN PPNT 11’5

¥ mooin is (seemingly) saying that 7127 is not (only) interested in reconciling the n1awn, but (rather) to (also) teach us
the laws of returning a v3; namely that the conditions required not to return a v, are; that it is n1M¥n M7™w and P
v"2 2. In the story of X117 27 he taught us that if not PImi we return it (even if nM¥n MI»w), and in the
contradictory nviwn he taught us that by n1xn m7™w "X you return it (even if 1p1m7).

’ We are only aware (somehow) that this "2’ lost a b3; we are not aware that any other "2’ lost a 3. See “Thinking
it over’.
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since it is not evident from within the writing of this v, which v"2’ is divorcing,
as I explained previously."

SUMMARY
727, in his two statement (either that M MA™Y PR or P R?) is informing us
when we may return a lost ©3.

THINKING IT OVER

moon writes that the reason we return the v3 even though it is P17 is because we
know that this couple lost a vx.''" What would be the ruling if we do not know
certainly that he lost a v3, but rather the husband claims that he lost a v, do we

return it as well or not?'?

10'See TIE there footnote # 2.
' See footnote # 9.
12 See R"wAn.
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